Internal Assessment Test 1 — March 2018
Sub: | Multimedia communication Sub Code: | 10EC841 | Branch: | TCE
Date: | 12/3/2018 | Duration: | 90 min’s | Max Marks: [ 50 | Sem / Sec: Viil OBE
Answer any FIVE FULL Questions MARKS | CO |RBT
[10] |[co1] L2
1 (a) | List different types of multimedia networks and explain any two networks in
detail with relevant schematic.
2 (a) | Determine the propagation delay associated with the following communication | [04] |CO1| L2
channels (i) A connection through a private telephone network of 1 km, (ii)A
connection through a PSTN of 200 km, (iii)A connection over a satellite channel
of 50,000km.Assume that the velocity of propagation of a signal in the case of (i)
and (i) is 2x108 m/s and in the case of (iii) is 3x108 m/s.
[06] |[CO1]| L2
(b) | Explain briefly interactive applications over the internet.
3 (a) | Define the term multimedia communication. State the basic form of representing [10] |CO1} L2
different media types.
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Explain with neat diagrams, the interactive television application for both cable
and satellite network.

Derive the maximum block size that should be used over a channel which has mean
BER probability of 10 if the probability of a block containing an error and hence
being discarded is to be 107

CO1

L2

Explain clearly different types of text data representation.

[10]
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L2

Explain the following: i) Quantization levels ii) 4:2:2 format iii) Raster scan
principles iv) Aspect ratio
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7(2)

Assuming the bandwidth of a speech signal is from 50 Hz through to 10 kHz and
that of a music signal is from 15 Hz through to 20 kHz, derive the bit rate that is
generated by the digitization procedure in each case assuming the Nyquist sampling
rate is used with 12 bits per sample for the speech signal and 16 bits per sample for
the music signal. Derive the memory required to store a 10 minutes passage of
stereophonic music.
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(b)

\With the aid of a diagram, explain how an image produced by a scanner or digital
camera is captured and stored within a computer memory?
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Explain with neat diagrams, the interactive television application for both cable
and satellite network.
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(b)

Derive the maximum block size that should be used over a channel which has mean
BER probability of 10™ if the probability of a block containing an error and hence
being discarded is to be 10
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Explain clearly different types of text data representation. .

[10]

CO1

L2

Explain the following: i) Quantization levels ii) 4:2:2 format iii) Raster scan
principles iv) Aspect ratio
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Assuming the bandwidth of a speech signal is from 50 Hz through to 10 kHz and
that of a music signal is from 15 Hz through to 20 kHz, derive the bit rate that is
generated by the digitization procedure in each case assuming the Nyquist sampling
rate is used with 12 bits per sample for the speech signal and 16 bits per sample for
the music signal. Derive the memory required to store a 10 minutes passage of
stereophonic music.
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(b)

With the aid of a diagram, explain how an image produced by a scanner or digital
camera is captured and stored within a computer memory?
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